WCSC 2019 analysis of study-solutions

Jasik Nr 4

all correct [wrong |nothing
1.f8Q 90 81 8 1
Rc3 81 70 11 0
2.Qf5 70 65 5 0
Rc8+ 65 64 1 0
3.Qc8 64 64 0 0
Sxc8 64 64 0 0
4.d7 64 64 0 0
Sdé+ 64 64 0 0
5.Ke7 64 63 1 0
Sc8+ 63 36 25 2
6.Ke6 36 35 1 0
Ra6+ 35 35 0 0
7. Kf7 35 35 0 0
Sdé+ 35 35 0 0
8.Ke7 35 33 2 0
Sb7 33 33 0 0
9.Rb5 33 32 0 1
Ra7 32 30 1 1
10.a4 30 30 0 0
Jasik Nr 5

all correct [wrong |nothing
1. h7 90 86 3 1
R7a6+ 86 84 2 0
2. Kh5 84 61 23 0
Rh6+ 61 58 0 3
3. Kxh6 58 58 0 0
Sga+ 58 57 0 1
4. Kh5 57 45 12 0
Rh1+ 45 42 3 0
5. Kxgd 42 41 1 0
Rxh7 41 41 0 0
6. Re3 41 5 36 0
Rxf7 5 5 0 0
7.g6 5 5 0 0
Rg7 5 5 0 0
8. Kh5 5 4 1 0
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Jasik Nr 6

correct [wrong |nothing
1.Rb7+ 90 48 39 3
Kgb 48 44 4 0
2.Rg7+ 44 24 20 0
Kxg7 24 24 0 0
3.exf6+ 24 24 0 0
Rxf6 24 23 1 0
4.Re7+ 23 17 5 1
Kgb 17 13 3 1
5.Bc2 13 12 1 0
Sd2+ 12 8 2 2
6.Qxd2 8 8 0 0
Be3+ 8 8 0 0
7.Ke2 8 7 1 0
Bxd2 7 7 0 0
8.g4 7 6 1 0
Qxc2 6 6 0 0
9.Rg7+ 6 6 0 0
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